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1      Introduction

New SI on further enhancements to LTE D2D for IoT and wearables was approved at RAN#72 [1]. One of objectives is to study path selection/switch between the cellular link (Uu air interface) and relay link. In this document, we would like to discuss path selection aspect.
2      Discussion
With the L2 UE-to-NW relay, the wearable device can switch from direct connection to indirect connection or the other way around as shown in the Figure-1. 
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Figure-1. Path switch between direct connection and indirect connection
The wearable device can switch from direct connection to indirect connection once it detects the accessible L2 relay UE, e.g. its associated smart-phone. However we think that similar to Rel-13 L3 relay UE selection described in 5.10.11.4 in [2], the measurement on the radio between the wearable device and the candidate L2 relay should exceed some minimum threshold as configured by the network rather than immediately selecting L2 relay once it is detected. With the same principle, the wearable device can switch from indirect connection to direct connection when the above condition for switching from direct connection to indirect connection is not met anymore. Some hysteresis value can be applied to avoid too frequent path switching between direct and indirect connections. In addition some more considerations should be taken into account in path selection. From our view, the power saving aspect is one of the most important requirements for IoT and wearable device as SID clearly indicates that the primary objective of the study is to address power efficiency for evolved remote UE (e.g. wearable device). Thus when both indirect connection meeting the minimum threshold and direct connection are available, the wearable device should be able to select the path requiring less power consumption. 
[Proposal-1]: The wearable device selects indirect connection from direct connection when the following conditions are met: 

· Condition 1: Measurement to L2 relay UE meets the minimum radio condition

· Condition 2: The indirect connection requires less power consumption than direct connection

[Proposal-2]: The wearable device selects direct connection from indirect connection when the conditions in the proposal-1 are not met.  

The wearable device can also switch from one indirect connection to another as shown in the Figure-2. 
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Figure-2. Path switch from one indirect connection to another
Again we think Rel-13 L3 relay UE reselection is considered as a baseline so the wearable device reselects the new L2 relay UE when the measurement on the radio to the currently selected L2 relay UE does not meet the minimum radio condition and the new candidate L2 relay UE that meet the minimum radio condition is found. If there are multiple candidate L2 relay UEs that meet the minimum radio condition, the wearable device reselects the candidate L2 relay that has the best radio condition. 
[Proposal-3]: The wearable device selects new L2 relay UE from the currently selected L2 relay UE when the following conditions are met. L2 relay UE that has the best radio condition is selected if many candidates are available.
· Condition 1: Measurement to the currently selected L2 relay UE does not meet minimum radio condition

· Condition 2: New candidate L2 relay UE that meet the minimum radio condition is found
3      Conclusions

In this contribution, we show possible path selection options based on Rel-13 eD2D principles and the following proposals are made: 

[Proposal-1]: The wearable device selects indirect connection from direct connection when the following conditions are met: 

· Condition 1: Measurement to L2 relay UE meets the minimum radio condition

· Condition 2: The indirect connection requires less power consumption than direct connection

[Proposal-2]: The wearable device selects direct connection from indirect connection when the conditions in the proposal-1 are not met.  

[Proposal-3]: The wearable device selects new L2 relay UE from the currently selected L2 relay UE when the following conditions are met. L2 relay UE that has the best radio condition is selected if many candidates are available.

· Condition 1: Measurement to the currently selected L2 relay UE does not meet minimum radio condition

· Condition 2: New candidate L2 relay UE that meet the minimum radio condition is found
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